
 フェニックス 8612 パーツ価格表 1/3

3/16”

1/4”

3/8" Low

3/8" Med

1/2"

ガラスクリップ用

Phoenix Model 8612

Phoenix 8612_製造：1999/02- 2019/03 終了(SN.6471-19000) Rev.20121214 長野総商株式会社_2308



 フェニックス 8612 パーツ価格表 2/3

主要パーツ
Key Part # Description 定価（税別）

46 3110-059 ガスケット：　フロントドア用 3/8"Med (9.5) 160cm 1,100/m

45 3110-056 ガスケット：　灰受けドア用 1/4”(6.4) 80cm 900/m

3160-080 ガスケット：　ガラス用 フラット（テープ付）3/4"(19) 150cm 1,500/m

11 2610-018 グレート：フェニックス/MAN8010/HER8020 (185x112) 9,100

43 96-58605 ガラスキット：フェニックス (263x400, t5) 54,600

* ガラス用ガスケットが含まれます。

Key Part # Description 定価（税別）

1 2610-003 TOP: MATTE,PHX

2 2610-004 Front Panel (Prior to June '02 Serial # 006471-009731)

2610-030 Front Panel (After June '02 Serial #009731) 85,000

3 2610-005 Front Door (Prior to June '02 Serial # 006471-009731)

2610-040 DOOR: MATTE,PHX 2  (After June '02 Serial #009731) 40,700

2620-040 DOOR: BROWN,PHX 2 75,600

2650-040 DOOR: BLACK,PHX 2 75,600

2661-040 DOOR: SEAFOAM,PHX 2 75,600

4 2610-006A Foot (Prior to June '02 Serial # 006471-009731)

2610-000 Foot (After June '02 Serial #009731) 13,200

5 2610-009 RIB: SIDE,MATTE,PHX 25,000

6 2610-010 ASH LIP: MATTE,PHX 45,800

7 2010-060 DOOR: ASH PAN,MAN 1/HER/PHX 2 25,000

8 2010-050 FRAME: DOOR,ASH PAN,MAN 1/HER(OLD)/PHX 2 12,300

9 2610-016 COLLAR: FLUE,MATTE,BEN/PHX/STA 18,500

10 2610-017 FRAME: ASH GRATE,PHX/HER 20,300

11 2610-018 GRATE: ASH,PHX/HER グレート 9,100

12 2610-019 BOTTOM: MATTE,PHX 2 100,500

13 2610-020 PANEL: REAR,MATTE,PHX 2 91,000

14 1641-301 STONE: POL,7-3/4"x9-1/8",S,PHX 26,700

15 1641-302 STONE: POL,6-17/32"x16",TS,PHX 29,400

16 1641-303 STONE: POL,10-3/4"x11-1/8",TC,PHX 32,600

17 3060-425 (108x216x32) 5,200

18 3060-427 (49x228x32) 4,800

19 3060-420 (162x98x32) 4,000

20 5012-052 BOX: PRIMARY AIR INLET/ASH PAN,HER/PHX 2 50,200

21 5012-056 ARM: SLIDER,PRI AIR CONTROL,HER/PHX 2 11,500

22 5012-057 HANDLE: SLIDE,PRI AIR,PWD COAT,HER/PHX 2 5,500

23 5012-304 SUPPORT: BAFFLE,SS,HER/PHX 17,600

24 90-73116 LATCH: ASH DOOR,COIL SPRING,MAN/HER/PHX アッシュドアラッチキット 15,000
4500-2976 SCREW: SET,5/16-18x3/8",HALF DOG,SOCKE 800

4700-0790 SPACER: DOOR LATCH,0.435"x0.375"x0.03" 400

26 5010-081 CRANK: HANDLE,WOOD STOVES 5,200

5240-138 SPRING: LATCH,WOOD STOVES,325# 2,500

5021-032 WASHER: FLAT,.406"IDx1"ODx.035"T,BLK 600

5010-057 LATCH:DR,ASH,SPRING,GROOV,MAN1/PHX2(Dens 8,800

25 96-73121 LATCH: FRONT DOOR,COIL SPRING,PHX フロントドアラッチキット 12,600
4500-2976 SCREW: SET,5/16-18x3/8",HALF DOG,SOCKE 800

4700-0790 SPACER: DOOR LATCH,0.435"x0.375"x0.03" 400

26 5010-081 CRANK: HANDLE,WOOD STOVES 5,200

5240-138 SPRING: LATCH,WOOD STOVES,325# 2,500

5010-077 LATCH: DR,FRT,SPRING,GROOVE,PHX 2(Deinsa 6,600

27 5600-024 PAN: ASH,MAN/HER/PHX 12,300

FIREBRICK: 4.25"x8.5"x1.25"

FIREBRICK: 1-15/16"x9"x1-1/4

FIREBRICK: 6-3/8"x3-7/8"x1-1/4"

Phoenix 8612_製造：1999/02- 2019/03 終了(SN.6471-19000) Rev.20121214 長野総商株式会社_2308



 フェニックス 8612 パーツ価格表 3/3

Key Part # Description 定価（税別）

28 5600-029J CLIP: WINDOW,3-1/2",PHX ガラスクリップ小L89mm（上1、サイド2） 4,500

29 5600-029K CLIP: WINDOW,9-7/8",PHX ガラスクリップ大L252mm（下1） 4,500

4500-3430 Glass Clip Screw ガラスクリップ用ビス 400

30 5600-030 CATCH: LATCH,DOOR,PHX ドア（ラッチ）キャッチ 5,500

4500-1910 SCREW: MACH,10-24x1/2",FLAT,PH,BLK OX 400

31 5600-040 PLENUM: AIR,PRIMARY,PHX 2 91,900

32 5600-041 PIPE: AIR,SECONDARY,#1,PHX 2 19,000

33 5600-042 PIPE: AIR,SECONDARY,#2,PHX 2 19,000

34 5600-043 PIPE: AIR,SECONDARY,#3,PHX 2 19,000

35 5600-044 PIPE: AIR,SECONDARY,RISER,PHX 2 14,700

36 5600-045 PLENUM: AIR,SECONDARY,PHX 2 55,300

37 5600-046 LOCATOR: AIR PIPE,PHX 2 4,700

4500-3060 SCREW: CAP,5/16-18x1/2",HEX,SS 800

38 96-58652 HINGE: DOOR,PHX ドアヒンジ 5,300
5600-020 HINGE: DOOR,FRONT,PHX 2 2,600

4200-0200 NUT: FINISHING,1/4-20,HEX,ZN 400

4600-0400 WASHER: LOCK,1/4,SPLIT,MED,ZN 400

39 5600-054 RETAINER: FIREBRICK,PHX 2 5,000

4500-0570 SCREW: CAP,1/4-20x1/2",HEX,SS 800

40 5000-008 SPLINE: 1/8"x3/4"x6-7/8

41 5000-020 Stone Spline 1/8" x 3/4" x 10 3/8"

42 5000-014 SPLINE: 1/8"x3/4"x10-3/4 3,700

43 96-58605 GLASS: PHX ガラスキット 54,600
3030-020 GLASS: IR,10-3/8"x15-3/4"x5mm,PHX

3160-080 GASKET: TAPE,3/4"x1/16",AD

44 Flue Collar Gasket

45 3110-056 Ash Pan Door Gasket 1/4" 900/m

46 3110-059 Front Door Gasket 3/8" Black 1100/m

47 3120-210 BLANKET: CERAMIC,12"x25"x1/4",HER/PH 3,700

48 3160-080 Glass Gasket 3/4" (Included in Glass Kit) 1,500/m

49 3110-051 GASKET: ROPE,1/2",LOW DEN,BLK 1200/m

50 3120-282 BOARD: CERAMIC,PHX 10,700

51 3120-284 BOARD: CERAMIC,5-1/8"x14-3/8"x10mm,PH 9,600

52 90-71100 HANDLE: DOOR,WOOD STOVES ハンドルキット 4,500
3900-177 HANDLE: WOOD,BLACK 4,100

4500-1680 SCREW: MACH,1/4-20x3-1/4",ROUND,SLOT,Z 1,600

4600-0400 WASHER: LOCK,1/4,SPLIT,MED,ZN 400

56 5210-3060 ROD:THREAD,1/4-20x20-5/8X5/8"&1-1/8", 2,600

57 96-58602 OPTION - Rear Heat Shield

58 96-56322 OPTION - Outside Air Kit

59 3060-430 (98x228x32) 5,600

60 3060-426 (114x228x32) 4,800

機種（モデル） 製造 Serial No.
クリーンバーン フェニックス 8610 1993/07-1995/06 101-2189
クリーンバーン フェニックス 8611 1995/06-1999/02 2190-6470
クリーンバーン フェニックス 8612 1999/02-2019/03 6471-19000

FIREBRICK: 3-7/8"x9"x1-1/4

FIREBRICK: 4-1/2"x9"x1-1/4

※鋳鉄パーツのエナメルカラーは別途お問合せください。（ブラウンエナメル：20、ブラックエナメル：50、シーフォーム：61）

Phoenix 8612_製造：1999/02- 2019/03 終了(SN.6471-19000) Rev.20121214 長野総商株式会社_2308


